
TIREFLIP 180® FOOT
REPLACEMENT INSTRUCTIONS

1 - Foot
1 - Top Plate
1 - Locking Nut
2 - Rubber Washers

Kit Includes:

T H E  A B S  C O M P A N Y

1. Remove rubber cover from the old foot
and install on new foot.

DIRECTIONS

Adjustable Cresent Wrench
(or Metric 16 Wrench)
M6 Metric Allen Wrench

Tools Needed:

2. Install the first rubber washer - flat side
UP on the base of the foot.

Call for details: 1-866-219-5335 Outside the US: 1-908-879-2713

w w w . T h e A b s C o m p a n y . c o m

The Abs Company, 8429 Lorraine Rd #362 , Lakewood Ranch, FL 34202 1 of 3



TIREFLIP 180® FOOT
REPLACEMENT INSTRUCTIONS

T H E  A B S  C O M P A N Y

3. Insert new foot through the frame of the
TireFlip and put rubber washer on top flat
side DOWN. (photo does not show TireFlip
frame)

DIRECTIONS

4. Replace top plate with new one. Twist to
screw in the new plate.

Call for details: 1-866-219-5335 Outside the US: 1-908-879-2713

w w w . T h e A b s C o m p a n y . c o m

The Abs Company, 8429 Lorraine Rd #362 , Lakewood Ranch, FL 34202 2 of 3



TIREFLIP 180® FOOT
REPLACEMENT INSTRUCTIONS

T H E  A B S  C O M P A N Y

5.  Install M16 nut on top of upper plate and
secure with an Adjustable Crescent Wrench
or metric 16 wrench. This will prevent
bumper from getting loose in the future.

6. Re-attach bumper with M6 bolts using an
M6 Metric Allen Wrench. 

Older style TireFlips will have 6-M6 bolts
while newer styles with the ring will only 3-
M6 bolts.

Call for details: 1-866-219-5335 Outside the US: 1-908-879-2713

w w w . T h e A b s C o m p a n y . c o m

The Abs Company, 8429 Lorraine Rd #362 , Lakewood Ranch, FL 34202 3 of 3


